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B |7 hy 7| PRI vanws | sramm | o
F F L M K FE |l wr o wmFE | e | ML
0 0 1 2 3 0
1 1 1 1 1 3 1 1 1 1 1
2 1 2 3 4 3| 2.00000 3.00000 4.00000 1.50000 1.33333
3 2 3 4 5 6|  1.50000 2.00000 2.50000 1.33333 1.25000
4 3 5 7 9 9|  1.66667 2.33333 3.00000 1.40000 1.28571
5 5 8 11 14 15| 1.60000 2.20000 2.80000 1.37500 1.27273
6 8 13 18 23 24|  1.62500 2.25000 2.87500 1.38462 1.27778
7 13 21 29 37 39|  1.61538 2.23077 2.84615 1.38095 1.27586
8 21 34 47 60 63|  1.61905 2.23810 2.85714 1.38235 1.27660
9 34 55 76 97 102|  1.61765 2.23529 2.85294 1.38182 1.27632
10 55 89 123 157 165  1.61818 2.23636 2.85455 1.38202 1.27642
11 89 144 199 254 267|  1.61798 2.23596 2.85393 1.38194 1.27638
12 144 233 322 411 432|  1.61806 2.23611 2.85417 1.38197 1.27640
13 233 377 521 665 699|  1.61803 2.23605 2.85408 1.38196 1.27639
14 377 610 843 1076 1131 1.61804 2.23607 2.85411 1.38197 1.27639
15 610 987 1364 1741 1830  1.61803 2.23607 2.85410 1.38197 1.27639
16 987 1597 2207 2817 2961 1.61803 2.23607 2.85410 1.38197 1.27639
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